Statistics – OR 155, Section 2, Homework # 7
Due:  Thursday, March 1, 2007
4.31

4.29   (hint:  Calculate P{G1& G2& G3& G4& G5& G6& G7})

4.33

HW:   C15    Suppose events A, B, C  all have probability 0.4,  A & B are independent,  and A & C are mutually exclusive.

(a) Find  P{A or B}        (0.64)

(b) Find  P{A or C}        (0.8)

(c) Find  P{A and B}        (0.16)

(d) Find  P{A and C}        (0)

4.40    ((b) discrete,   (c) continuous,   (d) could be either, but discrete is more common)

4.41  &  (c)   Find P{X = 3 | X >= 2}    (3/7)

4.52    (0.144, …, 0.352)

4.54    (0.73, 0, 0.73, 0.2, 0.5),        4.56    (1, ½, 1/8)

4.57,    4.58     (0.965,   ~0)

4.59,    4.61

4.73
4.71,   4.72    (Indep., Dep., Dep.)
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